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ELECTROMAGNETICS — I FIRST EXAM

Dr. Salih FADIL July 20, 2010

Fuida fae ll-v\ak'{"a-g each Tiwy are. the Corntas a,f;
Sde of e haaung oo o fangle
#1) Three points in Cartesian space are given as £(0,0,2), £(0,0,5) and P, (Om
a) SPed 7 =g aregs ssbanpiancte by using only vector algebra.
b) Find the all inner angles of the trlangle by using only vector algebra. What kind of

triangle is it? Why?
¢) Find the area of the triangle by using only vector algebra.

#2) Let A= peosgd, +zsingd, —pzid, and B=rsin@d, +r’ cosfsingd,
i -CL-l'
a) Calculate the component (m spherlcal coordinates) of Aalong B at P(3,-2. 6)

#3) For the vector function F = pa ,+2zd_, verify the divergence theorem for the circular

cylindrical region enclosed by p =35, z=0and z = 4 surfaces.



CLECTIOMAGRETICS-T FILST EXAM SOWTIOV WA
( Bty Selesol - ?.o/\o>

Dv"i %aﬂii«\ FADIC 3\A|3 20/ 2040

UE) rP«\P-z_ = (O‘O’%\)w LZIO,D> = (-zior S)

—
e G o= 6,05y =52, -5
\F; :CQ-JOFO’}—(\-OIZ.'Q): Ll’ﬂ2’0>
5 P1 . f‘a"‘zh%‘ﬂ"\

‘\5::‘ i \F—gv—5385 Mw;fi'"‘*j

s

23 5 ‘rP1?3 l" \SL\*ZS = 5,388 uwil’
==

Pg P; = lrf P l W \}g '--2’822) V\W:{*

- : . = . / - 7 9%
TR iy Soea

0,=130-9,/ B, =149,55°
[@@ %o.q?!
— —
TBobie b - w5 l0a 8 o0l :
P2 Pb 7 0, 4 - Cos 83 93 = Coy ("\E;;_Z = 40? Z’L?

_ {;@,,5;!80-—9; : :fq.‘-nbx}




by — PR !

“‘/Pa?/; ; rwl =48 N2 oy B = -y ——3\‘9 --“-}“1 '1"%‘1

%‘\V\\ﬁ- 9 = ._\+L1 B2 AN (a} | ?,‘ = P‘L? >/ 'H\i -"mav_xj!&,
il nise stz V2o -H\Olms ; :
AT = &
C) Afﬂq anpt (r.le X FVLPB \‘“ i (00+\OO+ 4&) = F.3473 U‘“'J")
%
ks
iy ~ e SA
P x g =
l»\FL P’L% 3 . —
-2 0 5 = O (D“"\O)w—ﬂ? Qo__o)
0 2 -5 +a; (i)
= —{0 QK ——IOQ LI'C‘Q
-TC’QV—‘QQ'\C;H/') ) W
P e
%2) !,._‘f; X:’%L ﬁ:\)q-;-fj\:di’b
L e 3:’6 -r:, e [ )
7\\\9({‘5 e b= Betatel (-
| > s
! g gtlb,& (&F'&'—"-?}ZE,B
g e e b e
‘‘‘‘ e ' iy
P et
S e |
X ¢ gf:l/\cw'\co\i e
r=(14243¢0) =3
g=
&= .Lc,l b‘ > = 3’\

d{; =232b.%



AJ{ S C,os(%z_e,")) = 3.0 : Be=Fx 511 '5;\) 3,.6052 @
A = b i (326,3) ==3,229 Pa@ = L'r'?) Cos(34) %M(“a»ze%)
Bo -“-"-m 23 204

%C¥ =0

/—\% = Wik 3k = =1429.8

Av ) !—%“”‘ (4 ) Qe ctanla il B 0 r_qoé,i}qg

= |cos(3) O -] |-3,39 = | 62 423
Ag O 1 | -
| O | Lw"‘i?.’*'?,SJ L =559
A A)IE) et — A, B :_Qf\omﬁ)x(s,(;o‘sa)
. ' el fla
R w3848 s <\ Beroh)nco s
[eos2)% (2, 204) i = —204%.35
= — R5,3¥% \
13,6050 O -23304 Ole ~ 4 “""
R, = (e = —3.62 (3.60520,. - 233048,
l F)...\ P = —‘/1?3 05 Qr u\- %L} ?_)ba% - l &“M‘ M’/}

%= B

v = Si‘a} 22 B
D\’\jifse—p"&\.ﬂ h’LQD%’M

fjexr—. 45 = S(ﬁ:/.?), dv

= \r

f 6= ([ 0a S ) F.ds

fop botbom Cunzd




	EMD_I_MT1_July_20_2010_s10.jpg
	EMD_I_MT1_July_20_2010_s6.jpg
	EMD_I_MT1_July_20_2010_s7.jpg
	EMD_I_MT1_July_20_2010_s8.jpg
	EMD_I_MT1_July_20_2010_s9.jpg

